Pascal

micro hose system

N2 gas springs

MEBERE M6 EUFE%



micro hose M6 thread system

MEBERE M6MELY Fi4

HRH RSBENS

DNKO0350 - DNK0500
DNRO350 ~ DNR2400




MEBERE
M6 24 7 5t




HERE

MBERE M6 B4 R 5%

2
HENEEE
LEFEEhTREN a5
FRIET 42MPa(50°C)
PR ER 0~ 70°C
REHE o
B J—
BN E R20mm B
- S/ SNME S S
WhaEE  EREBM %
0°C : 51 MPa
AR T O RE 30°C - 46 MPa
50°C : 42 MPa
70°C : 38 MPa
EATH HF 10 mm
BRI N
REBEEBRTRE.

EAMRERLEETH T, REZTHN. (AOEE. HBBEIEEH.

KT CAD X THERHFMR, FRMEEF

W www.pascaleng.co.jp




ES5 E ®XE DNH-M

DNH-M

25

R/NEH#FEA R20

M8 X1
ﬁ

28.5

RERS L mm FE g
DNH-M-0150 150 20
DNH-M-0200 200
DNH-M-0300 300
DNH-M-0400 400 30
DNH-M-0500 500
DNH-M-0630 630
DNH-M-0800 800 40
DNH-M-1000 1000
DNH-M-1500 1500 50
DNH-M-2000 2000 60

BEERERKEAL=150mm.

ERREMSNIRE B A HIE.

(ITHRE) BR10mm EREEZE.

ANANEEE

-

KT CAD XHTHEZEHER, BFLMETFMIT www.pascaleng.co.jp




Hi# #3 DNH-MB
DNH - MB
M6X1
v 2
<
(o)}
M8X 1
NAMEEE 10
B & EOME M6
FEHATHR wF 10 mm
M6 7N
R E 4 m
M8 7N m
B 2 Mg
ERGEEES
B model DNH-MB
A
[
— ]|
| 1
: M6 X1
RERE
AEME
mm
REAWERES A B
DNKO0350 - 0500 36.5
DNR0350 - 0500 8 36.5
DNR0O750~1500 7.5 36
DNR2400 6.5 35

O THRBMEEE

KT CAD XHTHEZEHER, BFLMETFMIT www.pascaleng.co.jp







le¥ € #X DNH-MH

RESZH

DNH - MH

(=g 3mpk M6

EHIR ~AHEF 4mm

M6 7N
B 46 m
M8 7N m
R E2 26 g

RN
REEE
M6X1
211
g \ /
M8X1 16 | AEAWNEEE 4 < L/
I < \ | =
1 - " — 1 H i
o
14 T
8.5

VIEW : C 37 10N\ mmens
mm

EFH;‘%E"W; ?&iﬁﬁﬁmodel DNH'MMO ﬁ%gﬁgﬂ% A B

DNKO0350 - 0500 10.5 20

DNR0350 - 0500 10.5 20

DNR0750~1500 10 19.5

DNR2400 9 18.5

XF CAD XHTHEEHFR, BELMITRMIT www.pascaleng.co.jp




le¥ TH #X DNH-MC

RESH

MR T RSk

DNH - MC

B E B OME M6
FHRATHR ~AHEF 4mm
M6 7N m

ZEHE

M8 7N m

RN
ASNE / M6x1
211
/ g
REER g
M8 X1 NANEEE 4 AN
N I \ / o
al — H | | ) o®
- ] N —— ! | .
(o)}
14 i
32 5 \
|
VIEW: € 37 1¢ Hs T sk
mm

ERE=ZR, ZEi£FAmodel DNH-MMo. o ] A B
DNKO0350 - 0500 10.5 20

DNRO350 - 0500 10.5 20

DNRO750~1500 10 19.5

DNR2400 9 18.5

XF CAD XHTHEEHFR, BELMITRMIT www.pascaleng.co.jp




EK#ESLX DNH-MM

DNH - MM

M6 FEK#E Sk EEH

) M6 1
ﬁ

. BLEBOMR M6
" ERAIR wF 10 mm
N ) M6 X 1 Z B 7N m

I 2 9g

ANAMEEE 10
AEEE

Y\
FEACFESL RERE

~|
|

B \\ EJL//
N
o N
& Q
\\ .
— 1 ]
W —
[e))
\
17 \
37 \ Mokt T odEsL
| R T RS
mm
ARMERNS A B
DNKO0350 < 0500 11.5 35
DNR0350 < 0500 11.5 35
DNR0750~1500 11 34.5
DNR2400 10 33.5

XF CAD XHTHEEHFR, BELMITRMIT www.pascaleng.co.jp

10



%%k DNH-MG

DNH - MG

© BG1/8ELE L FE R AMORL E ko

G1/8(BSPP)
& O Mg G1/8(BSPP)
EFRIR RF 14 mm
4 % [B| 4B 12N m
R 2 18 g
NAWNEEE
14
ERBG
RREE ZIBERER =&
GIRg B2
= 3
— (5 —
|
E&E#O(G1/8)
G1/8
sk
DNH-MG
M6
M6 M6 M6
M8 M8 M8
M8
BB BT EEL TR T gL
DNH-MB DNH-MH DNH-MC

KT CAD XHTHEZEHER, BFLMETFMIT www.pascaleng.co.jp .




“##%J DNH-MGA

DNH - MGA

O BG1/8MEH LR AMSIEL .

G1/8(BSPP)
il & 4 O HAE G1/8(BSPP)
FHITR wF 14 mm
vl R G1/8 12N
< EE 4 / m
M8 7N m
o W ] )53 = 20g
M8X 1
NAWNEEE 14
DNH-MGA 5 DNH-MGH] bk %
DNH-MGA DNH-MG

N BRIUBE BRIUBE
G1/8(BSPP) ‘/ G1/8(BSPP)

< ’| s
" e s " LmRIE model DNH-MG
] model DNH-MGA < al; HiB#EXL
- del DNH-MB
T REIEE { moce
REE

KT CAD XHTHEZEHER, BFLMETFMIT www.pascaleng.co.jp

12



KEEE+F DNH-D6

REEEF
DNH - D6 <§b§ﬁ N
e}
13|10 e
D) a} o
N
8.5 RIEIEIEM6
EFGEE
B 2 5¢g

KT CAD XHTHEZEHER, BFLMETFMIT www.pascaleng.co.jp

13



MERE M6 By Ry - EES

® @

- < )
\/ = < W@(
= 1) WKL Z
AN B
' B
‘/
® @ @
© 244 @ EifE ® HHGEEL

0 -~

@ W% T RoEsk GOH 5 HEHXKE

R —

KT CAD XHTHEZEHER, BFLMETFMIT www.pascaleng.co.jp

14



MERE M6 By Ry - EES

ZEEER 7 #O
+
gk
+
Te e EE L

O ZEEZR 7 #0O @ gk

® Bk @ =&
DNH-MGA

{. R
| (5]
_Seaeee

OF :3::3:- 28 © REEEEL OHE 5 ERE
DNH-MG
é

KT CAD XHTHEZEHER, BFLMETFMIT www.pascaleng.co.jp

15



16

O =&

@ WEH T Wk

o

MERE M6 By Ry - EES

® @ ©® )
© Bk OF £:3-4-¢ 8
DNH-MG

X

GOH 5 HEHE ® TR

DNH-MM

KT CAD XHTHEZEHER, BFLMETFMIT www.pascaleng.co.jp




Pascal

KEE AT A HF+ (Ki%E) R 2 3 (Pascal Dalian Corp.)
BR4% 116620 I TEHKETRFHAFAXNDEZA100-1812
FEi% 0411-8732-2988 1£H 0411-8732-7299

LiBEWT A =R (LiE) BR A A (Pascal Trading Shanghai Corp.)
BB%% 201107 LiEHHITRALERK1199F35 141
1% 021-5263-4122 f£H 021-6296-2882

hEL OKE OXE ORX OER O

Pascal corporation Japan

DCS-25C-3-M6
20223 B 451S090015AIE

LI S W
7 ROV 25 5 78 AN A0 1 T A A AT 2R B I BAR. SIS UKIS





